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Exam.Code:1007
Sub. Code: 7375

M.E. (Information Technology)
Third Semester
MEIT-3105: Advanced Algorithm Analysis and Data Structure

Time allowed: 3 Hours

NOTE: Attempt five questions in all, including Question No. | (Section
and selecting two questions each from Section B-C

Max. Marks: 50

-A) which is compulsory

(c) Define P and NP class of problem
(d) Consider the following setof inte
sort algorithm to sort the above

(€) Partial solutions obtained du

(b) Define implicit and explicit constraints for 8

S.

-queen’s problem

gers. {20, 25, 57, 48, 37, 12, 92, 86, 33} If one uses the quick

set of integers, how many steps are needed to completely sort
the file? Note: you may choose middle element as 5 pivof? : :

ring Kruskal's algorithm are also trees. Justi

X-X-X
Section-A 1.
1. |(@) Give recurrence relation for computing complexity of divide and conquer algorithm of merge | 10
sort : :

fy your answer.

Section-B

2. (a) Justify 4n%+ 3n+2 = O(n3).

(b) Write Strassen’s matrix multiplication Algorithm

G'J-lh_“

3. ((a) Determine the shortest paths to

’ 8 P
3 4%13;
D 20

all the vertices which can be r

using Dijkstra’s shortest path algorithm. lllustrate each intermediate step.

5 15
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eached from source 'vertex ‘A7

(b) Give the bounding function for

0/1 Knapsack problem using branch and bound method.

(b) For a directed graph, the edge
Salesperson problem using dyna
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em? What is the time complexity of multistage graph? ‘ 3
length matrix is given below. Solve the Travelling
mic programming method. Specify its complexity. i

Section-C ‘

5. (@) What is sum of subset problem explain
(b) What is the difference between recursi
(©) Can n queen problem be solved using

with example?
on and backtracking?
backtracking? Justify your answer.

the total number. of collisions occurs.

number of keys in any non-root node?

(c) Consider a B+-tree in which the maximum number of ke

ys 14, 19, 13, 4, 5, 23, 6, and 15 are mapped using
linear probing collision resolution technique. Draw the resultant hash table and determine

ysinanode is 5. What is the minimum

A BTN

7. |(a) Show that job Sequence with deadline is NP-hard problem
(b) Which one is better KMP algorithm or Boyer-Maore alc
__|(c) Compare deterministic and non-deterministic problem

Go

s with help of suitable examples.

rithm? Justify your answer.
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